Fall, 2018 Téot| Name: _7(!/%

MAT 162001 Gurganus

Directions: Show all work for partial credit purposes. You may use a graphing
calculator and any notes you may put on one side of an 8.5 by 11 inch sheet of paper.
Otherwise the test is closed book. When you tum in your test, staple your notes to this
sheet.

For 1-4, calculate the following:
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6. Calculate the following; it the integral does l}@t converge, state “does not converge.”
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7. Tell why the following converge or diverge:
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9. Write the partial fraction decomposition form for the following rational function. You
do not have to solve for the constants.
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Fall, 2018  [eatl Name: e S—
MAT 162002 Gurganus
Directions: Show all work for partial credit purposes. You may use a graphing
calculator and any notes you may put on one side of an 8.5 by 11 inch sheet of paper.

Otherwise the test is closed book. When you turn in your test, staple your notes to this
sheet.

For 14, calculate the following:
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7. Tell why the following converge or diverge:
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9. Wtite the partial fraction decomposition form for'the following rational function. You
do not have to solve for the constants.
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Fall, 2018 Name: Loy
MAT 162001 Test2 Versionl O Gurganus

Directions: Show all work for partial credit purposes. You may use a graphing calculator.
Otherwise the test is closed book. ‘Each problem except 2 is worth 14 points. Problem 2 is 16

points.

1. Find the length of the curve y = 2x+7)!%,3<x <5.
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2. Find the centroid (center of mass) of the region bounded by the curves: y =x— 10 and
= 14—-x,and x=10.
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3. Find y(x), the solution to y* % =(x2+1) *y(0)=1.
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4, Letf(x)= (x6+Ax8)for x = 1(forx< 1,f(x)=0).
a. Find the value of A in order that f{(X) is a probability density function. B
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b. Find the mean of the probability density function.
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5. Find y(x), the solutlonto %, c"lfl((’f;’ 1'y(=/2)=2.
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7. A biological population is growing at a rate directly proportional to the su.% of the

population. At t =0 hours, the population is 3 units and at t= 4 hours the population is 5
units. Find the population at t = 7 hours,
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Fall, 2018 Name: 14,,

MAT 16200). Test2 Vetsion 2 s Gurganus

Directions: Show afl work for partial credit purposes. You may use a graphing calculator.
Otherwise the test is closed book. Each problem except 2 is worth 14 points. Problem 2 is 16

points.

1. Find the length of the curve y.= (x+7)'%,3 <x <5 .
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a. Find the value of A in order that f{x) is a probability density function.
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4. Letf(x)=(x3+Ax)for x > 1(forx< 1,fx)=0). 1‘&

o)

b. Find the mean of the probability density function.



5. Find y(x), the solutlopto z -%%: y(0)=2.
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7. A biological population is growing at a rate directly pmporuon.ﬁl to the size of the
population. Att= 0 hours, the population is 5 units and at t=4 hours the population is 6
units. Find the population at t = 7 hours. : _a“ 1. ’L} t
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MAT 162 Test 3 Name g(gﬁ;}f_
Fall 2018 Version 1 '
For full credit, show all work.

1. Tell why each series is conditionally convergent, absolutely convergent or divergent.
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2. Find the radius and interval of convergence f(x) En_o(x + 4 z“(.‘_.+ n
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4. Use the fact that the following series Is a telescoping series to calculate Yo, m exactly.
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5. Calculate Yo ; e 4" exactly.

6. Use the integral test to determine the number of terms in the partial sum for 5., = that will
estimate the infinite series with an error less than 10™*
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MAT 162 Test 3 Name uﬁé, 43

Fall 2018 Version 2
For full credit, show all work.

1. Tellwhy each series is condltlonélly convergent, absolutely convergent or divergent,
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2. Find the radius and interval ofconvergenos’ fgﬂx) 2n=o(x+6)2" 4 +n)2,
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4. Use the fact that the following series is a telescoplng serlz?o calculate Y5, Tﬁ exactly.
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5. Calculate ¥, e~3" exactly.
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6. Use the integral test to determine the number of terms in the partial sum for 3,3, % that will
estimate the infinite serles with an error less than 10™*
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